
Division par 10⁻¹ (F)Trouvez chaque quotient.
2,688 ÷ 10⁻¹ = 3,8622 ÷ 10⁻¹ =
2,4101 ÷ 10⁻¹ = 7,807 ÷ 10⁻¹ =
5,041 ÷ 10⁻¹ = 6,61 ÷ 10⁻¹ =
8,42 ÷ 10⁻¹ = 7,3477 ÷ 10⁻¹ =
5,1818 ÷ 10⁻¹ = 2,068 ÷ 10⁻¹ =
9,8 ÷ 10⁻¹ = 5,9 ÷ 10⁻¹ =
2 ÷ 10⁻¹ = 1,7 ÷ 10⁻¹ =
1,8208 ÷ 10⁻¹ = 1,7 ÷ 10⁻¹ =
8,668 ÷ 10⁻¹ = 4,7 ÷ 10⁻¹ =
1,9 ÷ 10⁻¹ = 5,1 ÷ 10⁻¹ =
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Division par 10⁻¹ (F) SolutionsTrouvez chaque quotient.
2,688 ÷ 10⁻¹ = 26,88 3,8622 ÷ 10⁻¹ = 38,622
2,4101 ÷ 10⁻¹ = 24,101 7,807 ÷ 10⁻¹ = 78,07
5,041 ÷ 10⁻¹ = 50,41 6,61 ÷ 10⁻¹ = 66,1
8,42 ÷ 10⁻¹ = 84,2 7,3477 ÷ 10⁻¹ = 73,477
5,1818 ÷ 10⁻¹ = 51,818 2,068 ÷ 10⁻¹ = 20,68
9,8 ÷ 10⁻¹ = 98 5,9 ÷ 10⁻¹ = 59
2 ÷ 10⁻¹ = 20 1,7 ÷ 10⁻¹ = 17
1,8208 ÷ 10⁻¹ = 18,208 1,7 ÷ 10⁻¹ = 17
8,668 ÷ 10⁻¹ = 86,68 4,7 ÷ 10⁻¹ = 47
1,9 ÷ 10⁻¹ = 19 5,1 ÷ 10⁻¹ = 51
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